i

)

s~ L, LD AL,

=

B & IEMERE BRSO



B5 k xt & ¥ © BH &

A4 3 A 3 1 HEYE

woome B R [ M| E | HE| R || KR a
A& il F | H | B ﬁ & é W it
. A B - BT 2 1 1 2 1 1 8
0 AREIIESY 21 16| 13| 15| 8 5/ 10/ 10 98
A4 FryA"\L— - h T x5 1 1 2
) v S XA AR — L 7 1 2 10
o PEJES B R S A e B
= DIFTRy 7 A% 3 3
. FFE - BHESE 2 2 2 6
=0 /690 48 2 4 4 18 2 3 81
4 HEE - ~—47 v bE 17| 3| 11 71 3] 29 4 3 177
- A JREE - KTV 12l 6] 3 1 3l 2| 3 1 31
7 WfEdE - TES% 334/ 91 9 8 5/ 63 1 429
14 (1)
1 (2) 0
1 (3) 6 1 7
£ (4) 33 4 2| 3] 2| 10| 2 56
7 (1) FRIEE#EE AR — 2% 211 3] 11 7171 11 2| 4 66
7 (2) Bk
= (3) FLIUERE
6 1o (4) R AT
o (5) REEHSR. BT 1 1
N (1) BATFAF—E R 2 —2% s| 1| 4] 31 2| 2 1 1 22
N (2) AR
N (3) BhPEMERE. RETE 17 1l 6/ 3 2| 5 1 1 36
N (4) VEEE R o A M 1 1 2
N (5) BB SRRk 19 1 1 3 4 28
= YHRE - BERE 5 5
7 B - BFEAL 26| 14| 6| 5 1l 3 1| 4 60
8 B A - 1A% 51 3 Il 2 1 1 13
. ARRY; - BRinG %
SR QYT INOI/A ST 2 2
10 HL] 15 B 2 1 3
11 Ttk - SRR 49| 2| 20| 10 6 8 1l 2 98
1o |1 THEXEES 212| 69| 109] 68| 41| 91| 16| 40 646
0 MR X DA
B EEET TR 271] 4] 9 4] 6] 3] 8] 3 64
o FRATHE OO R
14 B E 166] 28] 69| 43] 28] 68] 6] 21 429
15 BT TIN5 or2] 27 72| 81| 42 71| 12[ 21 598
16 a5 (FriE) 156] 28] 25 16| 16] 42] 6] 8 297
o AU OBEEL ® 7] 13 14 9] 9] 24 2] 6 148
17 SRS 1 1 4 1 7
o il 1,644] 235] 392] 295 189] 466] 78] 134] 3,433

- 927 -




Az TR ERBEY OHRR

SAE3 H 3 1 HEUE

B %% X

PSSk EP % E @ AI;'% %
A& Bl by aps| sp| et | 7w ] smr | omk [ 1op [ g
. A B - BB 8 1 1
0 AR SITERY 98 1 1 1
A4 FayAAl— - T 5 2
) o R R AR — L 10 1 1
N PR B R 2 % D
= AITETR s R 3
. A G BRI S 6 1
7 RRE 81 4 1
4 HEIE - ~v—F v ME 177 4
. A fiffE - AT NVE 31 1 2 1 2 1 1
2 OHES - TES 429 30 8l 12 1 1
A4 (1)
14 (2)
A (3) 7 3 1 1
A (4) 56 2 1
o (1) FERSEH#EE NS — L% 66 2 1
v (2) Rk
o (3) FLIERE
6 (7 (4) FEFEWRAFER
o (5) FEEHEE, EI AT 1
N (1) BATAY—E A2 —% 22 1
N (2) HERERR
N (3) BN, BRERTES 36
N (4) BRI 2
N (5) BiRBEEE SR sk 28 2
= YR - EERE 5
7 BFRE - BRI 60[ 20 4
8 PAEAY - P EESE 13 1 1 1
o 1 ERWE - BRIBSSE
g A LS OARIBY 2
10 HL O 45 B 3
11 fhtk - SFpess 98 6
o A L XAIME¥ES 646 11 1
SR T R
134 B Bl H T L 64
2 TRATEE O RS
14 B 429 3 1
15 ATTHIZEZ Y L7220t 5 598 39 9 4 1 2
% A4 BEEMESY (FE) 297 42 6 3 2 1
o A DSNOBE & 148 20 2 1
17 Sk 7
& i 3,433| 199 37| 27 7 3 5 2 1 1

- 98 —




F&RTH B I BlE 5 O BB R DL

SFAEI3 A3 1 HIELE

‘ ) ok & O R R
THI R A 55 % % ~ 5 g * | w .
J IS i
P B I O I
. O I D I I
il PR i & ;,% §§ ;’g A vl
A B - MRS 8 4 8 7 8
0 AR XIIESYS 99| 19 59 6] 51 9 86
A FNNlL— - h T 2 1 1 2
L |m R RS AR 10 6 1 10 9 10
S PR B R R Y A T
= NITFT Ry R 3 3 1 3
LA G R 5] 1 4 2| 1] 3 6
e KBS 90 37| 4] 24| 14 88
vy HEN - ~—7 v MF 176 18 7 102 3l 70 166
- A fiffE - AT LVE 30 6 5 33 51 12 6 28
m FiEE - TES 409 1 46 4 8| 25 17
A4 (1)
£ (2)
£ (3) 7 2 1 6 5 4 6
A (4) 57 4 24 4 6 55
7(1) FFREEE A — L% 69 2| 62 66 16 6 66
7 (2) MeEhx
= (3) FLURT
Nim (4) BEEER AT
7 (5) BEHEHSUE. FMATTHER 1 1 1 1 1
N (1) BATAY—ERELH—2% 22 4 1 16 7 1 22
N (2) HEAENMR
N () BiPEMERE. HRE TS 37 6 33 1l 11 3 36
N (4) WEREERS 1 2
N (5) BikbEER RN 26 2 18 3 3 26
= HERE - BERE 5 2 5 3 5
t B - AT 59| 40 45 27| 15 36
A\ B EAE - AR 11 9 8 2 8
1 RIS - BRIRGE
= @O CINDNAT o7 2 1 1 2
+ HL D45 B 3 1 2 1 1
r Ptk - SRR 82 3 1| 12| 24 1 15
+ |1 LHEUIMEES 631| 84 250 11| 12 82
—|m BE R X DA% 1
- | BEYEEE I IEE S 61 14 2
= e WATHE O
w| A 405| 20 10 2| 1 48
E AT IEICRZ Y L7249 412| 23 90 1| 51 6| 144
1| BEERERY (RE) 253 21| 16 118 6| 46| 22| 251
e A LIS DG HiE 122 3 21 2 5 5 43
T o 7 3
o g 3,105 270] 101] 1,155] 64] 406] 129] 1,265

- 99 -




FIi&RITE B B <5 s R R S 5K

S 443 H 3 1 HIRAE

Hirtg ] i 4 ha Tt PN + 1 N &
7 X
F H JHE JI #* F W HE i
FH &
A BEE - BREEE 2 1 1 1 1 6
0 ARESITERY 15 7 12 12 2 5 10 3 66
A4 FrANb— - BT
_|m EEYEE AR 3 1 4
N MR B A R Y A e A
= ADITFTHRy I RE 3 3
| FEA - BEEE 1 1
e A 13 2 1 6 1 23
| B - ~—F» ME 65 2 7 5 2 22 1 1 105
- A REE - AT VE 9 6 1 3 3 1 23
0 FES - TES 55 2 3 3 5 3 1 72
1 (1)
1 (2)
£ (3) 2 1 3
£ (4) 11 3 1 2 1 6 1 25
mo(1) FRIEHEE AR — L% 8 3 9 5 5 8 2 4 44
o (2) Bk
m (3) FLERE
Nm (4) BEERAPTiERR
v (5) WHEEIRE, EYAPR 1 1
N (1) BATAY—ERELH 6 1 4 3 1 2 1 1 19
N (2) HAERR
N (3) BhENGRE. (BT 8 1 3 3 2 5 1 23
N (4) R REE I MR 1 1
N (5) HIRHEES X 8 1 1 2 3 15
= SR - BERE 4 4
+ KA - BT 21 14 6 5 1 3 4 54
N PAEAE - W EE S 4 2 1 2 1 1 11
jb4 AR « KRS
= QO ANOF/AY STes 2 2
+ Ll 0D 15 B 4 2 1 3
* Pt - s 15 8 5 1 2 1 2 34
n A L XIIME¥ES 93 39 44 45 12 40 11 10 294
— B BRE R U
n A E By I 7 1 3 3 3 1 7 2 27
C|m AT S
7[“ PN
m =y 57 14 18 22 1 25 5 10 152
g A TEICEE M L2\ st 4 128 18 20 22 19 25 12 12| 256
+A4 BaEMESEY (FiE) 41 8 12 3 1 17 3 5 90
7N
a A LS OES i 13 4 1 1 4 8 2 2 35
Tl e 1 4 5
& H 595 126|155 147 70| 184 61 63] 1,401

- 30 -




A& 3 ¥ A % & K

DL

ST 443 43 1 BHE

o sk B 7N I N N O S N (e o IOV B N e
7 X
FlH|E || & F| A | B
A& B
e R 1 2
0 AREUTESYE 6 3 6 1 2 6 24
4 FxAL—- h T =
|m EESGXIEY A R—L 2 2 4
| PR B R A e R 0
= AIGAIRy s R 0
. REE « BB S 1 1 1 3
e sk 15 1 1 7 1 26
el HENE - ~v—F v ME 12 1 3 1 10 27
514' TREE - T L% 10 5 3 2 2 3 26
o FEE . FE% 1 1 2
4 (1)
£ (2)
A4 (3) 1 1
1 (4) 1 1 2 1 5
o (1) FFRIEEHEE AR — L% 4 1 5 2 5 2 19
o (2) B
o (3) LR
N|m (4) BEER AP
7 (5) BEEHEICE. WA 1
N (1) BATAI— AR X5 2 1 1 5
N (2) HAEMRR
o~ (3) BhpERERR. PRE TS 4 1 1 1 4 11
N (4) VEEE S S i ik A 1 1
N (5) BB SR 3 1 6
= SR - BEEIRE
+ B - A TR 1 1
AN PAEAE - A aE S 1 1 1 3
1 AR - BRI SE
oA LSO ARIES
+ | EEoEEgs
R 1 1|1 3
| IEEEES 10 6| 10 4 10 7 48
— = B Ry A
| EE RIS 2l 1l 3| 1 5 12
= o FATHE RS
ol s ol 4 7 8] 1] 12 33
Pl as I LR N R 8 4 10
+ BAR®RGY (FrE) 21 2 7 2 2| 12 2 48
Nla o ustoma ik sl ol 1] 1] 1l s 1 14
Sl o
& 7 115/ 31| 63| 20 10| 85 32 365

- 31 -




BERBRSEEBLERK

AR 3 AR

55

Hoow Bl

&l

1R

i

D
JE

=¥&

%

S

PN
Vi3

SIS - BRI A

N TR Y,

Xy NL— o BT ok

HNEE

WS LA v AR —v

N
Pl

PR BB 3 T fE A

NI H TRy 7 A&

N

8 - BB

)

BRI

HEN - ~—2 v bE

it AT

FhEE  TES

N
s

(1) smeteorwicmsormsn iy

( 2) RO 10K O A LT AR B

( 3) FBE (IR . HIRBHF (DI, HBIER

(4) ERDBT, WRHFER

(1) FrolEEREE AR — L5

(2) R

(3) FLWEE

(4) PEHEAFTHIE

R RN ENERNEREE

(5) WEHIIE, MWATTHER

N
7

(1) BAFAp—E 2B 755

N
7

(2) A

N
7

(3) BhpEfe. REPTH

N

(4) VERFEESR T

N

(5) SR H SRME

MR - B

s

B EAE - RS

=

RS - BB GE

A LIS D BRIEY

HL O 17 B 5

L+ +

PRt - SEBEE

|1+

T8 XY

12

QTS G a3

=
IS N IR el N

F T e S R

13

FATHEO S

Py

10

R HEIZR% Y LW 2

11

b+ HHE+

A &5 (FE)

A DSOS Mg

> [0 | W

o+

AL

z O ho-

— R E

52

80

& it

102

22

13

153

-39 -




B ok B B FH &£ R K

SFIA4E3 A 3 1 BHAE

% N il | & T
1558 & By g B 1558 & By e 4 B
A% i J A% F s
A & Al POk POk BSES/EN SSER/EN
A BB - wms 6 6
0 AREXITERY 54 53 32 20
4 FySL— e h Ttk 1 1 1
o |m EE R AR — 10 10
| R g e A
= WIATRy s A% 3 2
LA A BEESE 4 3
e fREE 30 23 35 27
| BEIE - ~v—r v MNE 97 86 44 35
- A GRfl - AT E 22 20
v e - TE% 5 3 1 1
A (1) Wbt - BWITE
1 (2)
14 (3) 5 5
4 (4) 2 2
7 (1) Rl AR — L% 59 57
o (2) KRGk
7 (3) FLIEPE
No|m (4) BEER AT
o (5) BEHESE. FEHAFGR 1 1
N (1) BAFAS—E R &% 11 11 3 3
N (2) AN
N (3) BhPEMR. REPTE 31 31
N (4) WEFEE RS
N (5) BIREEES KRR 3 3 2 2
= Mk - 5ERE 5 5
+ BB - BFFEL 25 25 1
N A - RS 7 7 3 2
" A KRB - BRI
7 A LS DARIEY 1 1
+ LW O {5 B K
* L - SR 36 28 3 1
+ | THEXEE¥RS 40 38
— | mER 2 A
| B B #
= B TATHE O He S
it Yoy
i A 24 L7y 44 65 59 17 13
4 | EEHEEGY (FE) 100 98 16 12
Nole o LSO R 14 14 2 1
H SO 2 2
= #t 639 593 160 118

- 33 -




o Bl fE BR W B B B

AT

BT
S

BN 7
My T

i
TR

fij % > 7 |
Hp i T

By o
TR T

AT

(= 28)
e T B T
(ft)

ek e

i e B T

AR A

SfM443 H 3 1 AEHALE

RE| B8 | | | K|+ Nl
m|l | x )
FlH|E[I|&H]|F e F
ﬁ%%ﬂ 17132321 oll 28
e
121334 1 25
ﬂ 1{olo]lofo]o of 1
61]11]20(18|12] 16 6 |[150
olololo]1]o of 1
43181 9l14] 9|15 3 [ 103
tlol1l1l1]1 ol s
171314664 1| 42
14l03]olofo 1] 18
1lololololo of 1
wlels|al7]4 2 |l 56
D 4
At 191 33| 48 49| 41 ] 45 14 | 430




i R T R AR AT IR I,
SRA4E3 H 3 1 HEAE

IH H v | s e
- N e 7% E% [ SE AR
= AN fy ik it 28
=R N S G/ N - S 25 7
i B N X% v Z B B P 2
Ji& L A A e Wi 156 57
w5 ¥ o~ 7 B ® 1 1
B ® % v 7 B B P 101 57
= 24N iy ik 31 5 0
it il il i % i) 62 53
H iz 7 H W At 1 0
PT — i X W 3] 58 19
= 7t 439 203
fERRY) FEBHBPUIR B
SFI443 43 1 HBUE
TH H G B 4 (M)
5E R B A& 23 253, 500
2 7K FR 12 64, 800
7 E OFF oA 16 338, 000
BB ORF A 7 182, 000
=) D 58 838, 300

253,500

ERE Rl 182,000

0 100000 200000 300000 400000 500000 600000 700000 800000 9S00000

735,



% 4
K% T B M A R R B

H B 7

—

7

-

SAFEA4H 1 HBLE

=

67\

o A b R (TN Bl

Hit I =) 1) HA% NG S INEELLS S INEELZS S A
g F 13 926 9 907 22 ,833
¥ H 1 93 1 95 2 188
Vo 5 350 3 368 8 718
KE 2 154 6 590 8 744
VAN S 2 95 1 1,239 3 , 334
+305 3 225 47 2, 587 50 , 812
N 1 47 1 39 2 86
KKk 1 71 4 47 22 1,330 27 , 448
a 5 28 1,961 4 A7 90 7,155 122 , 163

_36_




B & 5 4 H Dk KB R

Rl
H2 94 H 3 04 R JT4E R 2 4F R 34
X
b1 37| 21 10 27 16 21
K w B 2 1 3 3 2
;’tﬁ OO 3 5 3 4 1
% Z Dith, 8 9 19 9 15
i 34 25 52 32 39
0 A B 643 312 872 487 645
B Ry T 117 58 168 91 121
4 BE 19 8 23 10 12
E;E §o B 3 0 2 1 3
E 45 15 23 8 19 10 14
EO 4 3 7 5 14
S = 34 3 11 7 7
?E ¥4 2 0 3 0 0
s V= 15 4 18 10 14
g;ﬁ @ W (nd) 3, 742 1, 491 3, 757 1,816 2,813
g B (a) 17 3 138 53 12
. & 9 1 1 2 1
15
=) () 19 2 10 9 5
# W (TH) 85, 751 56, 058 74,018 60, 401 115, 205
| WAy (TH) 51, 165 7,759 21,013 10, 024 17, 254
2;2 M E (TH) 10 0 10 0 105
% oW (TH) 474 1, 606 1,968 2, 485 352
v Z o (1) 974 580 213 2,596 231
0 (TH) 138, 374 66, 034 97, 312 75, 506 133, 147

_37_




B|E 5 EM D KKFER

JER A1)

H2 94

H3 04

R o

R 2 4

R 34

7= X

Ny

BT « FBERE ORER

— = ||~

PRI Y

Pl s B

koilE O

vy T e TAH—

FRITA - I

Al X

B2 D KAE

B JX

kA H

i K

Hk DEE

ZHBEE SE

11

12

z O

10

B - B

10

O |—= ]|

7N it

34

25

52

32

39

- 38 -




BESFEBDOEREZ AR BEE-THFHIUEL)

BEfR | M 5K -
IPAE PP Bk il
B e | wem | o [ K N
m | B (M)
. ) HAN—=T B kO
1A 11:30 | 14:17 | &9 RAOK LT Bl 304 16, 294
5H 23:20 | 1:09 ) A~ 232 5| 6 22, 225
7H 3:20 | 7:40 | H N 91 3| 7 50, 698
8 H 0:50 5:56 L) ] 758| 25| 25 16, 711
. ) ZHBEDORIERIZ K D
4 A 14:50 | 17:12 | 9 Ok DB 328 2| 9 18, 552
8 H 23:45 | 4:15 @) N 764 35, 399
9 H 16:35 | 18:25 | #t#y FHED KB D LU 67| 1| 6 17, 202
HAR—T D kON
12H 13:40 | 19:40 | &y | FE-PMICHEK LD 982| 8| 22 31, 155
D LHEE
. ) 1 R BRSO . .
7H 10:45 | 14:00 | 9 S DL 1791 1| 2 23, 243
) . A T — YR [FRE E
104 18:20 | 21:20 | ##y O K DEEL 277 1| 4 13, 909
H A A b=
FLIRIRBE LR |
114 16:00 | 17:57 | & | v, WHKOT=OITHT 2211 2 7 12, 582
7= Z =N E K
FEREYER L7= b D
6 H 8:50 | 12:32 | #4y N 764 3| 7 85, 472

_39_




